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5. %% Sy & @vel 7 & — @mug-ar S- This question booklet is divided into

0T WUT-H/

6. avE-o ¥ 100 aGw qev £ 6

frl @ Redt S0t &7 3v dr
sfad 1 g ® sivw mAl &
I 3 W w50 IO FT &
oI T AT R T &
fe 1 % iRt &1 w8t 3o #i
IR HU4 T4 OMR IR VIS H
R7 7@ g fawew &) HAid /7 wR
g 97 § wmy w0 feet 0
FRE @A/ T A/
&g / GT T BT OMR FH-
yfeawr & goir www s &
YT GONT TR IR g
7. @vg-& & 30 Y IAT AT 2,
fr @ fsat 15 %9t &7 IAv
Ffrard 1 5QF 7v & e 2 37%
Fruffe &1 373 alak®, s @vg 4
8 3 st wew R & fad
#ﬁﬁ?‘qtﬂﬂfﬁiﬁ?ﬁ#!
TR 9T & e s 3 i &

s fradt R & swiE S

i ot aiid 8 i

two sections — Section-A and
Section-B.

In Section-A, there are
100 objective type questions, oul
of which any S50 guestions
are to be answered Fist
50 answers will be evaluated in
case more than 50 questions are
answered. Each question carries
1 mark. For answering these
darken the circle with blue / black
ball pen agains! the correct option
on OMR Answer sheet provided 10
you. Do not use whitener / Hgquid
/ blade [ nail ete. on OMR-sheet,
otherwise  the resuit will be
trecatad invalid,

 In Section-B, there are 30 short

answer type questions, oul of
which any 15 questions are to be
answered. Each question carries
2 marks. Apart from these, there
are 8 long answer type
questions, out
4 gquestions are to be answered.
Each question carries 5 marks.

of which any

Use of any electronic appliances is

strictly prohibited.
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WYg - & / BECTION - A

AFFTS T / Objective Type Questions
wv wemr 18 1007w & wFr & wng i ey fry g & frrd @ v A& &

ﬁFﬁSOmf*mwv#mg#Wﬂﬁﬁmdom!ﬁzwﬁﬁﬁ'
&t 50 x 1 =50

Q‘UESﬁﬂﬂ. Nos. 1 to 100 have four opﬁun.s, out gf which an[y one ts correct.
Answer any 50 questions. You have to mark your selected option on the
OMR-Sheet. 50x1=50

1. ﬂﬂP[%,'Q),ﬁisﬂA[_ﬁ,slqa'a(-g_;“ﬁ:ﬂ@mﬁ@mﬂ

€ -4 (D) 4
If P[%, 4] is-the mid-point of the line segment joining the points

A(-6,5)and B(-2, 3), then the valuc of ais

(A) -8 B 3
c -4 (D) 4
2. wﬁmﬁ@qﬁmﬁﬁmﬁﬁ?mmm@n?
(A) 1 B) 2
(C) O O 3

If three points are collinear then what is the arca of the triangle

made by them ?

A) 1 (B) 2
(C) © (o) 3
2=4cM1=-H;s-4mm-mm| . Page 3 of 48
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[110]
3. ufr aapc ® Yl F W A(-1,0), B(5 -2) W C(8,2) & @

IH $gH & Hew® g

(a) (12,0) (B) (6,0)
(€ (0,6) (D) (4,0)
if A(-1,0), B(5. -2} and C(8, 2] are the vertices of a AABC then
co-ordinates of its centroid are
A} (12,0) B [(6,0)
(€)1 (0,86) Oy (4.0)
a. R fn@ ABCH AD, ZBAC W ¥&® § @ AB =10 I, AC = 14 A,

BC=68M @A DCHUAE
(A) 2.5 A By~ 3-53
() 458 (D) 43

Il in AABC, AD is the bisector of ZBAC and AB = 10 cm,
AC = 14 cm, BC =6 cm then the value of DC is
[A) 2:5cm (B 35cm

(C) 45cm (D) 4cm

5. fn@ ABC HDE || BC mm%%-ﬁ%:%.ﬂﬁ Ac=5.-airrﬂa’l

AE=?
@A) 4284 (B) 318
c) 28%f (D) 213

24(M}-H/S-41001-60/s0) Page 4 of 48
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[110]

In AABC, DE || BC such that 223 (f AC = 5.6 cm then AE = ?

DB 5
(A) 42cm (B 3'lem
(C) 2-8cm (D) 2'1cm

af @ T Bgel ) dme sl 1 AW 5 6 @ A I I H

6.
AT BT
(A)  25:36 B) 5:6
(C) 36:25 D) 15:16
If the ratio of corresponding sides of two similar triangles is 5 : 6
then the ratio of their perimeters is
(A)  25:36 B 5:6
C) 36:25 (D) ~15:16
7.  AABCH AB= 643 @fiyAC= 128 au BC = 6 @ft @l £ BEM
(A)  45° (B) 60°
(C) 90° (D} 120°
In AABC, AB= 643 cm, AC= 12 cm and BC = 6 cm then ZBis
(A) 45° (B) 60°
C)] 90° (D) 120°
g af wwarg @ ABC 9 @& 1 12 ¥l 7w wwwrg fing DEF 1
1 6 25 & m ‘ﬁ’;‘,
(A) 21 B) 1:2
) 4:1 (D) 2:3
[24(M)-H/S-4 1001-s0z601 | Page 5 of 48
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[110]
If one side of an equilateral triangle ABC is 12 cm and one side of

_ . . arca (AABC) _
equilateral triangle DEF is 6 cm then arca (ADEF)

(A) 2:1 B) 1:2
C) 4:1 D) 2:3
AABC T APQR ¥owu fnw & fmd ap, ¥ A4 @ pc W ww & 7

9.
PTYS PAQRR &8 81 TR AD =9 &t @@ pr= 7 4t | @ B
ABC w1 B POR & 8351 &1 39 @ B
Ay 9:7 B 7:9
(Cy 16:25 (D) 81:49
AABC and APQR are similar triangles in which AD is perpendicular
from vertex A to BC and FT is-perpendicular from vertex P to QR. If
AD =9 cm and PT = 7 cm, then ratio of areas of triangle ABC and
triangle PQR is
A) 9:7 B 7:9
&) 16:25 (D) 81:49
10. U wHaTE P ) O o 12 30 A @ R S e
A) 642 @0 . (B] 643 ®ift
(c] 3/J6 adft (D} 646 &l
If one side of an equilateral triangle is 12 cm therl its height is
(Al 6J/2cm (B) 6J3cm
(C) 3J6cm (D) 6&J6cm
24(M)-H/S-41001-wore01 | Page 6 of 48
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13.

* e P
L

B av @ @ e wRed 3 0 @ a0 10 3 & B T P R

g
(A 10 8 B 8 af
€ 53 D) 123D

The distance berween two parallel tangents of a circle 1s 10 ¢m.
Then the radius of the circle is

@&} 10em B) 8em

(€ Sem O 12cm

2 gw Al T w0} wen wd =@ @ @ wwln gdiEed § Fen
arfl 2

Al 1 B) 2

© 3 o 4

If two circles totch each other externally then what is the number

of common tangents ?

A 1 | 2
) 3 (D) 4
ﬁqﬁmﬁgpﬁ?{anm@ma’sﬂﬂmﬁﬂiiwﬁ
PA=6 St @ PB=

(A} 1289 (B) 6¥d

(€ 8@ (0) 18%d

'24[M]-H!S41wlm:ni Page 7 of 48
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14.

1.

[110]

Frem an external point P, two tangents PA and PB arc drawn on 4
circle, I PA = 6 cm then PB =

(A} 12cm (B 6cm

(C) 8cm | (D) 18cm

a2 3 Wf B o g9 W G 1 Titen weR 60° ¥ R T FH
& A e et R o R

Ay 243 ¥ B 33
(C) 343 @t KL

Il two tangents drawn on a circle of radius.d cm are inclined to

cach other at an angle of 60°, then the iength of each tangent is

(A) 2J3em (B) %icm

(€] 3¥3cm (D) 4cm
7R sin(20°+8) =cos30° T 0 F1 AF &

(A)  30° (B 40°
[C) 56° (D) 60°

If sin{20°+ 8] =cos30° then the value of B is

(A] 30° (B) 407
(C) 50° (D) 60°
24(M)-H/S-41001-(s0/6m Page B of 48
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17.

18,

19,

[110]
afe AABCH2C=90° @ sin (A + B) =

(A) O B) 1
© 3 D) -
= (D) .
If in AABC, Z/C=90° thensin (A + B) =
(A) o (B) 1
1
g & D) -+
5 (D) 7

sec?23' -tan?23'+2 =

A) O B 1

€ 2 D) 3

gf2 xcos@=1,tan @ = yal 2y w3

(A} 2 B 0

) -2 ' D)

If xcos@=1, tan 6 = y then the value of x?-ylis
A) 2 : B) O

) -2 © (D) 1

gfe tme:%?ﬂsinﬁ-

wln

(A) (B)

(D)

wis  wle
unjw

(C)

I24(MJ-H}S-41001-I¢0;601 ‘ Page 9 of 48
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If tanﬁ:% then sin 6 =

4 . 2
A < B 3
4 3
© 3 DI
l+cosA
L d l-cosA
(A) cosecA-cot A (B) cosecA+cotA
(C) cosec A.cotA (D) sinA.tan A

21. tan 5°.tan 25°. tan 30°. tan 65° . tan 85° =

(A) 1 B J3
(C) 71=3= O
22. cos 38° cos 52° - sin 38° sin 52° =
(A1 B O
€ 2 D) 3

cosec 42’ . cos37 "

23- [ & L
sec48 sin 53
A) © B 1
2
© 1 D) 2
24(M)-H/5-41001-rs0/60 Page 10 of 48
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24.

235.

[110]

)4 tan{u+|3]=qr§3ﬂ'{tana =71§?htanﬂﬂﬂ‘-'lﬁi

(A) (B)

1
6

(€) 715' (D)

If tan{a + ) =43 and tana =—J% then the value of tan p is

U B
© I oz
J2 (sin% +cosl4‘-] 5

(A) 2 ' B) 2
c 1 (D) %

26. ﬂﬁ acos0+bsind=4 ¥l asin0-bcos0=3 @ a? +b° WMUAR 2

(Ai 7 (B) 16
(C) 23 (D) -36

If acos0+bsinfé=4 and asin@-bcosf=3 then the valuc of

a? +b? is
(A) 7 (B) 16
(C) 25 (D) 36

i24(MJ'H/ S-41001 -s0/60) | Page 11 of 48
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27,

28.

29.

1110}
& gl & Swe H WA xz;y"‘%a’f:ﬂﬁﬁwaﬁmmﬁm

(A) .1::2:§,|!"t (B) J;JE;-

€ yx D) %Y

: S T -
The ratio of the arcas of two circles is x“:y°. Then the ratio of

their radii is
A xy B Jx:¥
@ y:x (D) x:y

R 38 =1 80wt 49n a1 At B At A ST A

(A) 7ad (B) 14@&H

() 49w (D) <21 At

The area ofa circle is 49r square cm. Then its diameter is
(A) 7cm (B) 14 cm

(C) 49cm (D) 2lcm

5 et 4 14 @ B & afga & gro a8 6 g g 2

(A) 400 &t (B) 440 At

(C) 288w (D) 388w

The distance covered by a wheel of radius 14 cm in S revolutions is

(A) 400 cm (B) 440 cm
(C) 288 cm (D) 388 cm
[24(M)-H/S-41001-e0/60)] Page 12 of 48
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30.

31.

32.

: 110
ﬁiﬂmm@@ﬁmmmtamwmlm;

am
(A 1:1 B) 2:=
@ =:2 D) Jx:2

If the area of a circle is equal to the area of a squarc then the ratio

of their perimeters is
(A) 1:1 (B) 2:q
(C) m:2 (D) J; -9

afe p[x)=x4 -5x+6 W@ g(x)=2-x ‘a@ P:x}l &1 9@ gm

A 2 (B) 4
© 1 (D)
If p(x)=x* -5x+6 and g(x)=2- x*, then the degree of PI( ]]

U B) 4
cy 1 (D)

Aafafaa § s fRae aftem ¢ 2

A x2-3Jx+2=0 (B) x+i— = x?

) x*+=5=5 (D] 2x°-5x={x-1)

Which of the following is a quadratic equation ?

(A) x2-3Jx+2=0 (B} x+%=x2

€ xP+-==5 D) 2x*-5x=(x-1)

i24(MI-H/S-41001-mm| Page 13 of 48
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33.

34.

35.

[]:f;_

af, Reama aHRT x2 +2kx+ 4=0 1 TH qA 2R A1 k F AH AW

A) -1 (B) -2

< 2 ' (D) -4

Il one root of the quadratic equation x? +2kx+4=0 is 2, then the

value of kis
Al -1 (B) -2

c 2 (D) -4

TG (x+3), ax®+ x+1 Elﬂ;ﬂi{[ﬂlm@m a %1 9HE 8

A) 3 B) %

< & (D)9

Il (x+3) is a factorof ax® + x+1 then the value of a is

Al 3 S

(A ® 2
2

© 2 IV

p % v 0 ¥ B Rum whem pxz-2x+3=o%11§1mmﬁa;qé
oHE 2 P

(A) 1 B 4
(B) 3
€ 3 =
(D) 5

24[M]~Hf5-41001-[5w4a| Page 14 of 48
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36.

37.

[110 ]

For what value of p, roots of the quadratic equation px*-2x+3=0

arc real and equal ?

w1 (B)

Cad | r—e

€ 3 1
D 5

fram TAF 6x2 - 3x+5=0 F g i wH F®M gt ?
(A) ATEATd TE GHH (B) wTeafy® wd w4

(C) areates T8 (D) wH A =W A6

What is the nature of roots of7 the quadratic equation

6x2-3x+5=07

(A) Recaland unequal (B) Real and equal

(C) Not real ' (D) None of these

af fyama wfE x* +x-20 -0 1 T 4 4 B 9 T qFO A A
(A) 5 (B) -4

c) -5 (D) 3
if one root of the quadratic equation x2+x-20 =0 is 4 then its

other root is

(A) 2 B -4

© -5 D) 3

[24(M)-H/S-4 1001-160114!!] Page 15 of 48
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38, R R SO X? +6xs5 <0 G o T pA A o +p7 F AR

(A) 30 B 16
(C) 26 (D) 20

. . 2 -
If « and B,are the roots of the quadratic equation X +6x+3 =0

then the value of «? +B2 is

(A) 30 (B) 16

(C) 26 (D) 20
39, fium wdwm pxa—-qx-rr:(), p*0 %iqa%

(Al th 2-4;}:‘ quq2+4pr

q
2p (B) 2p
—qt{q:—fipr -gt q2+4pr
© 5 (D} >
P p

The roots of the quadratic equation pxz-q.x+r=ﬂ , p#0 are

(A) qi-JqE—dlpr q:t-J 2+4pr
2p

q
2p

©) -qi4q2—4pr (D) -qi\dqz-t-‘#pr

2p 2p

(B)

40. T x = - 1 Q1 wlfiewruni 2x2+31+p=0 at qx:-qx+4={) %l TH

(A) 1 B} -1
) 2 O) -2
|24(M]-HIS-41001-mnm Page 16 of 48
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[110]

fx=-1Is '
X 1 is a common root of both the equations 2x”+3x+p=0

5
and gx®-gx+4=0 then the valueof p+ g is

(a1 B -1
< 2 D) -2
41, WuM A T, e E S e s @, e R SHAD A M F
yred g BE%e jim
(a) 200+ ? (B) 21072
(C) 2507t ? (D) 220w 2
The length, breadth and height of a cuboid are 15m,6mand Sm
respectively. Then the lateral surface arca of the cuboid 1s
(A) 200m? () 210m?
(C) 250m" (D) 220m?
42, aiﬂﬁgmmﬁmﬁﬁ4ﬂ:ﬁgmmﬁﬁsaﬂmmmuﬁ§?
A) 4 B 8
(c) 12 (D] 16
How many cubes of side 4 cm can be formed from a cube of side
8cm?
A) 4 (B) 8
C) 12 (D) 16
[24(M)-H/S-41001 507609 Page 17 of 48
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J n
d! W@%?ﬁaﬂﬂﬁﬂ*ﬁﬂﬁm:Sﬁﬂ\.dﬁﬁmsﬁ‘ﬂ%*ﬁﬁm

EﬁWWJﬂiﬁm?ﬂm‘lmme?
(a) 728’ B 144 T *
€] 1283 2 o) 256%H

Three cubes of metal with cdges 3 cm, 4 cm and S cm respectively

are melted to form a single cube. What is the lateral surface arca of

the new formed cube ?

(A] 72cm? (B) 144 cm”
(C) 128 em? (D] 256 cm”
44. 0 oAl ) Bromall w1 ure 2 ¢ 3 3 IR HAEEl T HFIE S5 : 3@ A
FF el F oI
(A)  27:20 (B) 20:27
(C) 4:8 (D} 9:40

The radii of two cylinders are in the ratio 2 : 3 and their heights are

in the ratio 5 : 3. The ratio of their volumes is

(&) 27:20 (B) 20:27
€ 4:9 (D) 9: 40
45. A I F WwHyE B A% 1760 A @ 7 wh snur D P
14 3 8 @ gt J=rd gvf
(A) 10 &t (B 15 @
(€ 20%&h (D) 40 ¥
24{M)-H/S-41001 s0769 Page 18 of 48
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46.

47.

(110 ]

If the curved surface area of a cylinder is 1760 cm? and its base
radius is 14 c¢m then its height is

) 20w B 15¢m
(C) 20cm (D) 40cm

TH U F TRy K wrw frew 4 IR sk ek Hew 3 3 2 AR FH
weé 10 B0 @ @ uig & e B

(A) 120 & 3 B 220 8&d

(C) 440@d (D) 1540 & °

The external radius of a pipe of metal is 4 cm and internal radius is

3 cm. If its length is 10 cm then the volume of mctal is

(A) 120cm?’ (B) .. 220 em®

(C) 440cm’ (D)~ 1540 cm®

afe Fredt vigs, IR A B ¢ @ v ol S 1 @, @ G
qE 1 AT E

(A) 3 arl (B) =ri

© art (D) 2 nrd

I ris the radius of the base of a conc and ! is its slant height then

the curved surfacc aréa of the cone 1S

(A) 3 =l (B) mri
€ Larl D) 2 =rl
3
- 24(M)-H/S-41001-ts0/60)) Page 19 of 48
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48.

49.

1110|

14 30 =@ AT it w1 et I A BT
(A) 147 n 87 2 @ 198 add?
(C)] 488 n @ 2 D) 396 n @ 2

The total surface area of a hemisphere of diameter 14 cm s

(A} 147 nem? B) 198 ncm?

(C) 488 ncm? (D) 396 ncm?

T UH & AR 1570 ¥N° 2 qR sedhommwr gaee 314 w2 R,

ot gaeh! Fard 2
(A) 10 @H} (B) 15 &
(c) 18&w (D) 20 W

3

The volume of a cone is 1570 ¢m™. If the area of its base is

314 cm? then its height is

(A) 10cm B) 1Sem
(C} 18ecm (D) 20cm
24(M]-H/S-4100) -(80/60) , Page 20 of 48
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50. AR & Men A frem 27 & A s g dm
(A) 32nr? 16nr°
3 {8) —=
3
8 nr’ 3
C .
(C) 3 (D) 64:;:1"
If 2r is the radius of a sphere then its volume is
32nr° 3
(A) 3 (B) .Jﬁg.f_
(C) Bnra 64:11'3
3 (D) 3
51, @AM AN -3 -L 2 . w11sfwFEm?
(A) 28 (B) 22
(C) -38 (D) -48
What is the 11tH term of the AP. - 3, - .%- 2,..2
(A) 28 (B) 22
(Cc) -38 (D) ~-48
52. ®\wiq 8 41, 38,35, ..., 8 i gai i wE 2
(A) 12 B) 14
(C) 10 (D) 15
The number of terms in AP.41.38 85, ..,0 is
(A) 12 (B) 14
¢ 10 (D) 15
Page 21 of 48

24(M)H/5-41001-80/60
by:BSEBResult.In




- ' [HDI.

53.  WHiw A 2, 4, 6, 8, ... % FUN 50 T W GG AN
(A) 2500 (B) 2550
(cll 2005 (D) 2000

The sum of first SO terms of the A.P. 2, 4, 6, 8, ... is

(A) 2500 (B) 2550
(C) 2005 (D) 2000
54. g (247,-3 ) PP squtn i ¢ 7
(A) wum B) fida
© (D) .~ 9gd
The point (247, -3 | lies in which quadrant ?
(A) first (B) second
(€)  third (D) fourth

55. Mgl (2cos0,0) 7 (0, 25in0) TN
(A) 1 B) 2
© 3. D) 4
The distance between the points { 2 cos 8,0)and (0, 2 sin @ ) is
(A) 1 (B) 2

(€ 3 D) 4

Tﬂ&m Page 22 of 48
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56.

or.

58.

110 |
A WY x=- 280 y= 3% weA g R

A) (-2,3) (B) (2,-3)
€ (3,-2) (D) (-3,2)
The intersecting point of straight lines x=-2 and y= 3 is
(A) (-2,3) (B) (2, -3)
€ (3,-2) (D) (-3,2)

fagat (7,-4)W@ (-5, 1) dafgle

(A) 12 (B) 13

) 11 (D) 5

_ The distance between the points (7,—~4)and (-5, 1) is

(A) 12 (B) 13

(C) 11 (D) 5

_y-alaiqtazﬁ%q‘lﬁgms,-zmé (-3,2)0 T &, R

A (0,3) B (-20)

€ (0,-2) D) (2,2)

The point on y-axis which is equidistant from the points ( 5, - 2)

and (- 3, 2)is

(A (0,3) B) (-2,0)
€ (0,-2) (D) (2,2)
_ﬁ_?(Ml-H/S-cHOOl-:;orﬁm Page 23 of 48
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60,

o) Lg2p2 D)

| 110
PQRS@HWH‘E.m:ﬂiP{O,ol,Glﬁ:ﬂl-R{ﬁrzl’ﬁ

S(0,2)% @ AET F YAk QT
(A} 6 B) 8
(C) 16 (D) 12

PORS is a rectangle whose vertices are P( O, 0), @16 0), R(6,2)

and S(0, 2 ). The area of the rectangle is

A 6 (B) 8

€ 16 D) 12

M A(a,0), B(0,0) T C(0, b) Bt sABC % ¥ & @ AABC ®
LELRR L

{A) ab (B)

1
2

If A(a,0), B(0,0) and C(0, B) are the vertices of AABC then the

area of AABC is

(A ab 1
(B) 2I::b
1. .3.%
gt o 12

24(M)-H/S-41001s0/s0y
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110)
61. Ferferiaa &« agug 2 »
SRS B 9x?-axsd3
(C) %xa +%x'f‘ +8 (D) x+%
Which of the following is not a polynemial ?
(A) x* 5 | (B) 9x°-4x+v2
(C) _;_x:s +-g-.1:c:z +8 | (D) x+_i_
62. W (x°+x"+3x) (a8 +x®+x?+1) T AW R
(A) o B) 6
s (D) ~ 10
The degree of the polynomial (x® +x* +3x) (B +xex?+1) is
(A) S B) 6
)y 11 (D) 10
63 WEH x°—11 F Y B
(A)  11,-11 B 11, -411
) JI11,-411 D) V1L, -11
The zeroes of the polynomial x?-11 are
@A) 11,-11 B) 11, -411
€ V1L, -411 ) J11,-11
3a(M).H/S5-41001-s0/s0] ~ Pagc25of 48
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64. TR -2 - 3 Rum wewr K2 (a+l)x+b F S &
A} a=-2,b=6 B a=2b=-6
) a==2,b=-6 Dy a=4,b=6
If - 2 and - 3 are the zeroes of the quadratic polynomial
x2+{a+1]x+b,then
A) a=-2,b=6 B) a=2,b=-6
€ a=-2,b=-6 (D) a=4,b=6
65. TR G x”-9x+a % YRH = AET 82 M@ B AH @
(A} 9 o - (B0
(€ 8 | D) -8

If the product of zeroes of the polynomial x2-9x+a is 8 then the

value of a is
(A) 9 (B) -9
(C) 8 (D) -8

66. freferiten 4 fra R agg v 4 g - 23 7

(A) x?-2x-8 B} x*+2x-8
C) x*-2x+8 (D} x%4+2x+8
24(M)-H/S-41001-(s0/60) Page 26 of 48
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67.

68.

X [ 110)
Which of the following quadratic polynomials has 2z€roes
4and -27
A x*-2x-8 (B] x?+2x-8
[C) x2-2x+8 [D] x2+2x+ﬂ

IR TR p(x)=x2+3x-4 % q=F oW pA @ “Tﬂ &1 G &

A -1 B) 1

(C) 4 D) -4

If a and B are the zeroes of the polynomial p(x)#x° +3x-4 then
the value of 2 is

A) -1 (B) 1
C) 4 D) -4

7f2 WEYE g(x) W TE [AF - 3@ A g(x) B T PAES T

(A) x-3 (B) x+3
|
o —= D —3

If one zero of the polynomial g{x) is=3 then one factor of g{x) is

(A) x-3 (B] x+3
1
[C, X _]; 3 (D} x+3
[24(M)-H/S-41001-1s0/60) | - Page 27 of 48
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69,

70.

71.

| 110
A 2 A
afg f["‘]=x‘“2x3—x+2 Hl g{x]=x2-31+?- Q v fem

VRIS &) 910 B
(A) 4 3 2
€ 3 (D) 1

' 2
I f(x)=x"-2x"-x+2 is divided by g(x)=x"-3x+2, then the

degree of the quotient is

(A) 4 B 2

cy 3 D) 1

AR ;W - 3(x+1)-5 FTF WP & D (a+1) (G+1) F9H B
A3 B) -3

€ -4 _ (D)~ 4

I a and p are the z¢roes of the-polynomial x?-3{x+1)-5 then the

~value of (a+1y{g+1} is

Ay 3 B -3
)} -4 ' (D) 4

- U 2H faws sl @ ey 2

(A) 100 (B] 10
) 50 (D) 20
The mean of first ten consecutive odd numbers is
(A} 100 (B) | 10

) so D) 20

24(M)-H/S-4100 1 -j60/60)
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72. 15,6, 16, 8, 22, 21, 9, 18, 25 #I Tt 2
(A 16 (B) 15
) 21 (D) 8
The median of 15, 6, 16, 8,22,21,9,18,25is )
(A) 16 B) 15
() 21 D) 8

73. 0,6,5,1,6,4,3,0,2,6,5, 6% WgT 2

Ay S (B 6
(C) 2 (D1 3
The mode 0,6, 5, 1,6,4,3,0,2,6,5,6is
(A) S B) 6
(C) 2 o 3

74. T SERA 424 % WA @ TgeH FA: 4864 T9 46-52 & @ FHI

Hrey &
(A) 49-70 (B) 49
(€ 50 (D) T & HI§ T

24(M)-H/ 5-4 1001-j60/60) Page 29 of 48
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75.

76.

[110]

. eributi 48:64 and
The median and mode of a [requency distribution &rc

46-52 respectively. Then its mean is
(A} 4970 B) 49
(C) S0 - (D) none of these

f ot At I.J:+'.2.x+4,x+5tl_ii x + B @1 W 11'@(?ﬁxiﬁlﬂﬂ
B

A} 5 B) 6
< 7 oy 8

[f the mean of five ohservations x, x+ 2, x +4, x+ 6 and x + 8 Is

11 then the value of x is

(Al 5 (B 6
c 7 (D) 8
Teh HEWE 9] & Wiieha w7 20ft 2
1
a3 B) 0
) 1 (D) 18R

What is the probability of an impossible event ?
(Al % B 0
2

() 1 (D) more than 1

|24{M]-Hf5-4 IGUI‘IMJ‘N]
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8.

| 110]
afe P(E)=0.-4 @ pP(E') ®Ium 2
(A) 096 B) 06
(€) 1 (D) 006
[f P(£) =0-4 then the value of P(E') is
(A} 096 (By 06
(€)1 (D) 006
Q) arE! 1w  Hva g 6§ @
(A} 12 | (B) 20
(C) 36 (D) &
In the throw of two dice the numbér.of possible outcomes is
(A) 12 (B) 20
(C) 36 (D) 6
Creffige § F-H dern Red men w78 @ wdl 8 2
(A} 06 B) IS
©  75% o 2

Which of Lthe following numbers cannot be the probability of an

event ?
(A) 06 (B) 15
C) 75% (D) _52-
24(M)-H/S-41001-60/60) Page 31 of 48
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BO. ¥ i ) b A R e T a3 A R FE

1
(A) 0O (B 3

(C) % (D) 1

Whal is the probability of not getting an odd number in a throw of

a die once ?

1
(A} O B 3

(C) % o) 1

81. M 2a+3b=-8WH 3a-4b=--5Q RN
A a=1,b=2 By~ wS2 b=1
(€} a=-1,b=2 D) a=2b=-2
If2a+3b=8and3ﬂ—4b=;5,then
A)  a=tl b2 B) a=2,b=1
€ a=-1,b=2 D) a=2 b=-2

B2. Waw bt Im 2x-3y=-8 W 4x-6y-9 ¥

(A) T (B) 3ETg

(C) anfia D) +H A wd 7§

The pair of linear equations Qx—:iy;ﬁ and 4x -6y =9 arm
(A) consistent (B]  inconsistent |
[C] dependent (D] none of thege

24(M)-H/S-41001-1s07e0] Page 32 of 4f
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83 EHIEW 2x+3y=4 T8 4x+6y=12 & @ e wwr & 7@ Wil
g 2
(A)  HIH 8 T (B) Wi W 1@H
() =B T @ D) A RETH

The graphs of the cquations 2x+3y=4 and 4x+ 6y=12 are which
Lype of straight lines ?
(A) Coincident straight lines
(B) Parallcl straight lines
(C) Intersecting straight lines
(D} Nene of these
84. THHW PFE 2x @Y+l 20T 3x+y+2=0 G g € ?

(A) THIRFEAIGEE  (B) HREA T

() R (D) A 3 7

How many solutions does the system of linear equations
2x-3y+1 =0 and 3x+y+2 = 0 have ?

(A} one and only one solution

(B) no solution

(C) infinitely many solutions

(D) nonc of these

|24{M]-HIS-4 IOOl-tuwull Page 33 of 48
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85. k% fr WA % v witem fem x+2y=3 T Sx+ky=15 & 3

LGN
A] 5 : B) 10
6 Y-

For What value Dr k' has the S}’Stﬂrﬂ ﬂ.r linear cquathﬂS X+ 2y= K|

and Sx+ ky =15 infinite solutions 7

(A} S B) 10

€ 6 (D) 12
86. PefsfEmd s anim Af 2

(A) 0-3, 0:33, 0-333, ... (BN, 111, ...

(C) 2,4,8 16,.1 D 0.-4,-8.-12 ..
Which pfthefollowing is an A.P. ?

{A] 0-3,0-33, 0-333, ... | 1,11, 111, ...

{C} 2,4,8,186,.. (D} 0,-4,-8,-12,...

87. phfEmum & fuee (2p+ 1), 13, (5p-3)aoim 9 4 2 -

(A} 3 B 4
() 12 (D) 6
For what value of p, terms {2p+ 1), 13, (5p-~ 3 ) arc in AP, ?
(A) 3 (B) 4

€ 12 L) 6

"

Page 34 of #¥

24(M)-H/S-41001 “(80/en) |

by:BSEBResult.In




B8.

89.

S0.

. (110]
TR a T AP 3, 8,13, 18, .. W nA @R A ay-Gyp T T

gm ?
(€) 40 (D} 55

If a_ is rth term of A.P. 3, 8, 13, 18, ... then what is the value of

@ps =g 7
(A) 30 (B) 75
(C} 40 (D} 55

Wiﬁm@uwm%wmsﬁmzs%?ﬂiﬁwﬁm
o .

Ay S B) 4
c 3 D] 6

The 2nd term of an A.P. 1s 13 and its S5th term is 23. The common

difference of the A.P. is

A) S B) 4

(c© 3 D) 6
!ﬁﬂﬁmﬂﬁ%mnwﬁmﬁﬂ{&-nz]%a}mn}@mmﬂm

gm

(A} 4 B) -2
c) 2 (D) 6
|24(M|-H,'S-41001-m;u|| Page 35 of 48
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91,

92.

| 1101
; -n?) then the commyg,
If sum of first n terms of an A.P. is (5n-n")

difference of the AP, is

(A) 4

B) -2

€ 2 (D) &

64 16

81 *yo ¢
(A)  wfoh dem B) uRda g&m
(€) uls mem (D) T G

64 16 .

B1 + —g- 15
(A)  Rational number (B)] Irradonal number
(C) An.integer (D)  Natural number

2 rafira Gemail 24+ 8 aen 3-J5 & TUASd 2o T
(A)  uitla wom (B) iy T
(C) uits wem (D) WFa Fem

The product of two irrational numbers 3. g and 3-J5 will be
afan

(A)  Rational number (B) Irrational number

(C)] Integer (D)  Natura) number

24(M)-H/S-4100 L-s0/50; |
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94,

95.

(110 ]
(0-3 +0-4) F FE@H ¥

L 7
(A) -l'ﬁ (B) =
7 7
T T

The simplest form of (0-3 + 0-4 ) is

A 15 I
7
(C) {"'—1 D) 3¢

'ﬂ'&lﬁﬁ:Q‘xxS!’xlazﬁﬁx+y+z-

(n 4 . (B ~35
c 3 Dy 6

If 156 = 2"% 3¥%13*, then x+ y+ 2=

(A) 4 (B} 5

(C) 3 (D) 6

J10 xJ15 2

(a) Tiohm (B) wiAY wH

() s @& (D) NI FEA

JTE x\ﬁg 18

(A) Rational number (B) Irrational number
(C) [nteger (D) Natural number

'24{M}-HJ' S-41001-(s0/60) ] Page 37 of 48
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I 110
p
36. g % % 0105 A forgr 1 FHA 2
2 B 21
22 52 (8) 93y 53
@ 2 =
2352 = 2x 5°
In the form of —£__  0.105 can be written as
2" g™
21
{A) 21
22“ 52 (B] 23-:‘ 53
() 21 21
23, 52 (D) 2% 53
97. =R J W w1 RoHo = 25 3N GoHo = 50 3 @ g3t F A
g
(A) 1250 (B) 1150
(C) 1350 (D) 1050
If H.C.F. of two numbers = 25 and L.C.M = 50 then the product of
numbers will be
(A) 1250 (B 1150
() 1350 (D) 1050
98. TR WM TEIREY q=bg+r 3 b=61,g=277Y ;= 328 @ g F OF
91 g 2
A 16
(A) 79 (B) 1600
C] 16
(C) 69 (D) 1695
24(M}-H/S-21001. 3
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J - 110}
. If in division algorithm a- bgrr, b=61,q=27 and r = 32, then
|
. whitl 18 the valuc ol g P

(A) 1670 B 1600
() 1669 0 1696

9. U q u& vareneh yule B o) Defafye § @ o v quits A 7

(A)  Bgt ] B3) 6g+2
(€} Oqr A (D) 6q+6

Il s 0 positive integer, which of the following is an odd positive
integer ?

(A) 6g+ 1 B) 6g+2

C} 6Gg+4 D) 6gq+6

100. @) eraw fawm @EnH 1 HoHo B R
A0 B 1
(cy 2 D) 3

The H.C.F. of two consectilive odd numbers is

(A) 0 (B) |1
) 2 (B) 3
@M]—iﬁﬁ-ﬁiﬂﬁl-mmaﬂ Page 39 of 48
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g - @ / SECTION - B

Hq m u T/ Short Answer TYpE Q\IEIﬁﬂnﬁ
o o R 1577 F I E) g

15#2:30

Wy weay 1@ 30 7% oy I W

v & fro 2 5@ Praffa 1

ons. Ans
Question Nos. 1 to 30 are Short Answer Type Queshions wer an,

; 19x2=
15 questions. Each guestion carries 2 marks. 30

1. wﬁgmmémmﬁﬁrﬂ#ﬁﬁ%m“ﬂ-“‘”*ﬁl@
(-8 -2)8 2

Find the area of the triangle, whese vertices arc (0, 4),{3,0)ang

(- 8, -~ 2) respectively.

- - -
2. TR FA*e : cosec 39° cos 51° + tan21° cot 69° - sec " 21 2

" 2
Evaluate : cosee39° cos 51° + tan 21° cot 69° - sec™ 21°,

3. g 1 5 sec*6 - tan*6=1+2tan?s. 7
Prove that sec® 0-tan® 0=1+2tan”®.

4. fag =t (JV2+2)° w it den R | 2
Prove that (v2 +2)? is an irrational number.

5. fimma age « —simmmmuﬁﬁwm%iﬁa%m

H deger ) wfg w1 ,

Find the zcroes of the quadratic polynomial x% -3 and verify the

relationship between the zeroes and the co-efficients.

24(MJ‘H;S‘4I‘U0]-|60NQ:. Page 40 gﬁg
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ﬂ i'g'ﬂ x* —2x —x+2 ﬁirng x2-3x+2 @ ym 3

g

10.

1.1.

| 110 ]

2.
Divide polynomial xtoaxd-xe2 by the polynomial x?-3x+2.
ﬁgm@ﬁmmmaﬂzmﬁsmmnommﬂn 2
Using Euclid division algorithm, find the HCF of 252 and 594.
frefafaa AfEs] &1 o 9@ & 2
AR 4 8 14 11 3
Find the mean of the following data :
I
Variable 4 6 8 10 12
Frequency 4 - 8 14 Ll 3 J

ﬁﬂﬂﬁﬁmaﬁdﬁlqﬂ%maﬁmaﬁﬂiﬁﬁﬂﬁﬁqﬂ%ﬁﬁ

4 ot B gH W R 2

A circle is of radius 6 cm. Find the length of that chord of the

is at a distance 4 cm from centrc of the circle.

@ F BN @ A TER

2

circle, which
afy @guE (@ +2)x” -3ax-2 F Uk LTH
< |

If one zero of the polynomial {a+2 }xz _3ax -2 is negative of other
then find the polynomial.
ajﬁaﬁﬁm%ﬁﬁﬁﬂﬂﬁlmgﬂmﬁﬁwﬂgaﬁsém

m%aﬁﬁmaﬁélawﬂ%mﬁlﬁl 2
The sum of the digits of a two-digit number is 9. If 9 is added to the

number the digits of the number arc reversed. Write the equation

for these statements.

24IMI-H;‘S-41001-¢wsmi | Page 41 of 48
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13,

14,

15.

16.

17.

[ 110,

RN TR T x4 5y <0 o 3 x - JBy =0 F S W i
fafe @ 7m0 = 2

- =0 ‘
Solve the pair of cquations Jﬁx-&ﬁy -0 and ﬁx J—S_y by

the method of substitution or elimination.

@ g ) T, e @ Sad www: 26 1, 14  aw 65 H & A
TN 1 9 gE w0 @ 2 2

The length, breadth and height of a cubeid are 26 m, 14 m and

6'5 m respectively. Find the latcral surface area of the cuboid.

3
et Ao & Y H QTEE AW WA FUH: 264 H 7 U 396 H1° #
o= & B e 9 7@ w0 2

The curved surface area and volume of a cylinder are 264 m® and
396 m* respectively. Find the radius and height of the cylinder.

fwdt vig & R H e 7/7 S am 3= 21 A R @ IF F AR
et -2
The basc radius of a cone is 747 cm and its height is 21 c¢m. Find

the volume of the cone.

gfe et AP, & wum 14 €I 1 M 1050 B 7Y THHI WYUK 9 10 A
20 af 9¢ W H| y)

If the sum of the first 14 terms of an A.P. is 1050 and its first term
is 10, find the 20th term.

JMAP Fyuw 22 95 W A wa W fwd gd am 7R s 228l W
149 B} 2

Find the sum of first 22 terms of an A.P. in which common
difference is 7 and 22nd term is 149,

[24(M)-H/S-41001-(60/60) Page 42 of 48
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18.

19.

20.

2L

42.

23.

24,

| 110 ]

¥R S ABC B TRA% w1 o ¥ @ Rig & & B w1 fd
§GM| 2

Each side of an cquilateral triangle ABC is a. Prove that the

R @R 0x? _6x o] 0 ¥ R¥ed gd W @ fw gE S TFO
Tt 2

Find the discriminant of the quadratic cquati

alutudc of the triangle is

an 9x2—6x+1 =0

and hence find the nature of the roots.
k & f@ aet ¥ g fam @flem (ke 1)x? -2(k=1)x+1=0 E
W EM ? 2

For what values of k has the quadratic cquation

(k+1)x2 -2{k-1)x+1=0 equal roots ?
ﬂﬁﬁ’ﬂﬂa.nw?ﬂmm:ﬂa’f'ﬁm:43#1-3??1’!331&.!:.*1

HH-1 T3 AR ? 2
If the 3rd and the 9th terms of an A.P. are 4 and - 8 respectively,

which term of this A.P. is zero ?

k% frm §A ¥ fg wftEm ke y=1 W (k+l)x+2y=3 F w3 &
T A 2

For what value of k, equations kx+y=1 and (k+1)x+2y=3 have

no solution.
4 tan? 45" +cos? 30" -sin2 60" F.HH I S 9

Find the value of 4 tan? 45" +coa? 30" -8in?60 .
Htﬂmx+-:?=3.x¢0 * qefl #1 14 B 2

Find the roots of the equation x+%=3, x#0.

24(M)-H/S-4 lOOl-MMﬂII Page 43 of 48
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20,

27,

28.

29,

30.

[ 110
af2 i A 8 BC

2

AABC W Briang fing & Rradap = AC = 13 8 2

oA U U R s 5 e @ A B dwd @ R
hich AB = AC = 13 cm. If the

AABC 35 an isosceles triangle in w
BC is 5 cm, find the

length of perpendicular from the vertex A Lo
length of BC,
x 1 Pt e R ol P(x, 4) @ Q(9,10) F AT H D

10 ¥ 2 2

Find the value of x for which the distance between the points
P{x, 4) and Q{9, 10} is 10 unils.
Regafl (-3, 10) 3 (6, - 8) F) 1ed 1 tarEE # fag (- 1, 6) Fhm

A § fnfae s d 2 2

In what ratio does the point (21,6 ] divide the line segment joining
the points { - 3,10 )and (6,-8) ?
T 15 B o H e AR ¥ W 60° w1 B0 ARt ) den w 34 fag i

Fard A &t Sgl @) dan vl w2 2

A ladder 15 m long makes an angle of 60° with the wall. Find the
height of the peint on the wall where the ladder touches the wall.

w gl H e ) gF & dwrg 15 /9 B) 20 e # e g T fem
TR §A%A §1 L 2

The length of the minute hand of a clock is 15 em. Find the area
swept by it in 20 minutes.

2 ATl F TH Y SH AR OH F I A 3 A o @ 0
a1 B4 F) Wi @ gl 2

Two dice arc thrown at the same time. Find the Probability that the
sum of the two numbers appearing on the top of the dice are more
than 9.
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11101
& Tt W | Long Answer Type Questions

T FET 31 ¥ 38 A To0a W §1 g @ PR 4w & IW S S
uv= & foau 5 3w fauifia €1 4x5=20

Question Nos. 31 to 38 are Long Answer Type questions. Answer any

4 questions. Each question carries S marks.

ucE H'an'ﬂ'q Ax-5y+1=0 T 2x-y+3=0 w HEd dd 3R

31

32.

O

34,

3 ¥ wat g 2l

4x5=20

T W 5

Draw the graph of the pair of linear equations 3x-5y+1=0 and

2x -y+3=0 and solve them.
@mﬂmwmzﬁoaﬂm%mﬂaﬁéﬂ
Mzwmmmumamalmmaﬁm

¥ <rerd P 2

The arca-of a-rectangular ficld is 260 square metre.
it becomes a

5 et 9 WX

If its length

becomes 5 metre less and breadth 2 metre more,
square field. Find the length and breadth of the rectangular field.

e @t i 3w Bl 3 Al 1 SRR T TR g & il %
>

Prove that the ratio of the arcas of two similar triangles is equal 10

Lhe ratio of the squares of their corresponding sides.

3 J
frg &1 sc;: o, cuse.;: 0 _ sec0cosecd (sccO + cosecO ).
ceC ﬂ — l_ coseC U e l

scca 0 " CDSEC‘:E’O

= sec( cosec( [ sec( + cosecl
53(;2 0-1 EOSCCIO -1 b

Prove that

24(M)-H/S-41001-s0/60) Page 45 of 48
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(ar
U

3b6.

37.

[110]
m?mmzutﬂmmgmmmtﬂmﬂm@%

ﬁmmﬂﬁﬁrﬁnzznﬁxmrﬁarﬁlﬁﬁmmw%'mm
%) F91 Fm ) 3

A 20 m decp well with diameter 7 m is dug and the soil from
digging is evenly spread out to form a platform of 22 m > 14 m.
Find the height of the platform.

T HAN & TR-fa & w waw & i #1 39 w01 30° @ 3RORE &
T farg @ fam % vy @ T ww e0° 31 AR dm s0 A F @ A
w9 ) Fd 3 = 5

The angle of clevation of the tapof asbuilding from the foot of a
tower is 30° and the'angle of elcvation of the top of the tower from

the oot of'a building is 60°. I&{h]&“owcr i3 50 m high, find the
S

height of the building‘ose‘o(e
4 8, 5 &t 3k 6 AW yenall T @ B D N W o AR R
FEY TF 3 Bga ) = R e g vem B A dm e
2

'5- @ ﬁl S
Construct a triangle of sides 4 cm, 5 cm and 6 cm and then

construct an another tnangle similar to it whose sides are 2 of the

" corresponding sides of the first triangle.

24(M)-H/5-41001-(s0/e0
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1310 ]
E ﬁﬂﬁi‘%ﬂmﬁﬂmmﬁ 5

] -Haue | 80-85 | 85-90 | 90-95 | 95-100 | 100-105 105-110 | 110-115

5
ATERE 33 27 85 155 110 45 1

Find the mode of the following distribution : B
! -
Class- | B0-85 | 85.90 | 90-95 | 95- 100 | 100-105 105-110 | !
interval

5 19
Frequency | 33 27 85 155 110 4

L e

fazre a1 A wafda @afl sirarsrd,
3‘:‘:&:&3,? wsat 0, , vsfae

mm%mﬂm
o U & f3r
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